Efficiency vs hit

0.2

[
[

Ratio
=
|

"0 5 10 15 20 25 30 35 40
TP hits

—=— DQM_original_step2_tthar-phasel-newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

I Efficienc|] —— DQM_pixelCPETemplateCutChiSquareNew5_step2_ttbar-phasel-newgeom

0.5
CD
£0.45]

s

o
i

0.35

iency vs

effici
o
[%3]

0.25
0.2
0.15
0.]]
0.05

Ratio

20 25
TP layers

Efficiency vs pixel layer
0.5

efficiency vs pixel layers

5 7 8
TP pixel layers

Efficiency vs 3D layer

0.5

N

©

N
T[T

o
O w
w O

fficiency vs 3D layers

£0.25
0.2
0.15,
0.1
0.05

1Q
11

Ratio

0.9F--1-t-F-

0'”() 2 4 6 8 10 12 14 16 18 20
TP 3D layers




	Contents
	Page 1


